SAP ABAP table RECP SF DOC A440 {Document: General Letter (Adjustment

Measure)}

RECP SF DOC A440-PARTNER = BUTO00-PARTNER

BUTO000

_— -

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

TOO1
MANDT [CLNT (3)]
BUKRS [CHAR (4)]

TBO0O3

CLIENT [CLNT (3)]
ROLE [CHAR (6)]

TBO09

J{Q 1} RECP SF DOC A440-ADDRTYPE = TBO09-ADR KIND

CLIENT [CLNT (3)]

RECP SF DOC A440-RECIPSUBROLE = TIVBPSUBROLE-SUBROLE 0.N

{01} -~ ADR_KIND [CHAR (10)]

{0,1Y0,1}",

> 55‘_‘"“_‘ ———————————— 0.N

N | MANDT [CLNT (3)]

TIVBPSUBROLE
MANDT [CLNT (3)]
ROLE [CHAR (6)]
SUBROLE [CHAR (4)]

TIVCPCT

CPACT [CHAR (4)]

TIVCPFM

MANDT [CLNT (3)]
FNAME [CHAR (15)]

TSAC

COMM_TYPE [CHAR (3)]




